JoobobboboboIBO00O0Ooooon
O00000000ooooooooo (ooo)
gbooooogn

(000000000ODODODOOO

1) — 5 (2) Arcsin z  (3) =

—xz—2 cosT + sinzx

|00000000000000000000O00000000OOO0O0OoOOO

1 1 w/2
/ \/ i ®dx (2) —dx (> 0) (3) / log sin xdx
1—x e 0

3] DO f(x,y)DDDDDDDDDDDDDDD//f(x,y)da:dyDDDDDDDD
D

1
T4y
2) D={(z,y) eR* | Va+y<1, 2>0, y >0}, flz,y)=uzy.

() D={(z,y) eR*|[1<2<2 2<y<3}, f(z,y)=

400000000000
r=rsinfcos¢p, y=rsinfcosp, z=rcost

goooo
()oooooooooooooo
(2)0(1))0Do0OO0O000000O0DOO0OOOO0OO04r/3000000000

O00(1)00000000 (2)0000000000O00oOC0OO0O00oooDOOoO0O
gboooboon

bl p,q0 000000000 ODOOOODOOOOOO

I'(p)T'(q)
B(p,q) = Thtq)

00 1
[(s) = / e ¥ dx (s > 0), B(p,q) = / 2P (1 —2) e
0 0
godd

O000000TI(s)000 B(p,q)DOODODODODOOOODOOODODODOOOODO

6) 00 00000000000000000OO0



2

gbobobooooon

e 00 0O0DOOO0OLODOOODLDLDODLDODLDDOOOLDDOUOODbLOOOO
gobooboboobobooobboobboboobboboobobooboo
gbobbooodgbobbooodabbn

el b0O0ObbOO0bLbOOODLDUObODDLOOOLDLObODLDbOOOn
gbobobooggn

e OUO0OODODLODOOODLDDOOODDLOOODLDOUOOODLDOOLOOD
gooboboboobbbboboddoooooooobobboobbooagg
gbobogbbobbobboobboobbooobbooboboodgboon
goboboogooooo



gooboooobood

110 (1), (2), 210 (1), (3)0000000000000000[1)0 (3)0 [3]00
000000000000000000()2)0 (2)000000000000000
000000000000

104]00000000000000000000000000000000(3]
0[f00000000000000000000000000000000000
000000000000000000000000000000000000 [6
00000000000000000000L

[1)0 (3)0 [2]0 (3)000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000000

gbobooboobobooboobobbobooboboboboobon
gbobobooaoobbodb

gbbbuogobbbuoobbbuoooobbbooobbbooooboo
gobbooogboo

gboboboooobod

goboobooogn



